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Answer all questions.
All questions carry equal marks.
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be treated as wrong answer.

5." Each question has four alternative rcsponscs §
marked serially as 1, 2, 3, 4. You have to darken |
only one circle or bubble mdicating the correct
answer on the Answer Sheet using BLUE BALL §

FOINT PEN.

6. 1/3 part of the mark(s) of each que_stion will E
be deducted for each wrong answer (A wrong §
. aRswer means an jncorrect answer or more than J

one answers for any qucsllon Leaving all-the

reélevant circles or bubbles of sy quostion blank ‘K

will not be considered as wrong answer.)

7. The candidate should ensure: $hat Series' Code of

the Question Paper Booklet and Answer Sheet

must be same after opening- the envelopes, In 8

case they. arg. different, a candidate: must obtain
another Question Paper of the ‘same seriss.
Candidate himself shall bc rcsponmble for
ensuring this.

8. Mobile Phore or any other. electmmc gadgct in

the examination hall is strictly prohibited. A §
candidate found with any of such objéctionable §
material with him/her will be slncllv dealt as per’

rules.
9. Please correctly ﬁil your Roll Numbcr in OMR,

Shest. 5 marks will be deducted for filling wrong §

or incompleic Roll Number,

Warning : If a candidate is found copving or if |

any unauthorised matenal is found in
hisfher possession, FLR. would be

lodged against him/her in the Police §

Station and hefshe would liable to be
prosecuted undes Section 3 of the
R.PE. (Prevention of Unfairmeans)
Act, 1992, Commission mav also
debar him/her permanently from all
future  examinations of the
Commission.
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Only one answer is to be given for each question. §
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I~ Consider a sequence of numbers in base X ‘
245, 556, 112, 332, 163, 852, 332 | N“"Jl
From above data it can be inferred that
5 (D) Xzs o
(2) X<8
5 3) Xz9
5 (@) X<o
| 2 A 2-byte data d15d14~--d5'dzd-1ﬂ@ 15 é:ra-flsnﬁtted from-A to B. Hem g,
represents LSB (least significam bit). I srapsmitted walue is 1947 g
rectived value is 1663, bits @ eror ave - "
() dydgdyd, ‘ |
@) dedgd,d,
(3) dydydad,
(4} insufficient data tc infer correct results S
3 include <stdio >
int main(void)‘l {
int  a=10, b=20: -‘ | o
a, b= (b a)
printf("%d %dia" . b;
R | o
.Ou.tput of this program shall be
(1) 20 10
) 10 10
{3) 20 20
(4) Program can not be compiled as line 4 1§ in error.
05/cOM-101_aj 2
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™, 4 Owing to a faulty implentation of com iler, precedence of operators from
. g y | piler, p p
highest to lowest is assigned as follows:

> Addition, Multiplication, Subtraction and Division
E)_(pression 23 + 53 - 18§ = 2/ 4 -shall result -.in an output valué of
(1 67 @ 3
(3) 10 4y 76

L

5  Consider an expression

Here ® represents XOR operation. This boolean expression evaluates to

(1) FALSE if number of XOR operations are even.

(2) FALSE if number of XOR operations are odd.
3) TRUE if A is TRUE
{(4) TRUE if A is FALSE

6 Xy = 5738. Value of X is

(1) 13312
(2) 22323
3) 23312

(4) 12323

7 Consider a 16 bit computer system in which signed numbers are

+

represented using 2's complement. Most significant bit represents sign
and is O for positive numbers and 1 for negative numbers. Consider two
signed numbers A = COIC,, and B = FIEE .

(1) As>B
(2) - A<B
(3) magnitude of A = magnitude.of B ' oy

(4) - Tnsufficient data to infer resulis.

05/coM-101 4] 3 IR 1Cone.



R, §

+ s ST iy . |

Right shifting & number o On radix ¢ punber system) by w place.

.

5 equivalent to’ - ' \
5 (1 dividing wenber by 1™ :
(2} wmuliiphing number by ™0
5 (3)  dividing vamber by vl
5 (4}  muliph tinber by
9 Value of MINE.143365 s given by
5 (1) 6226, (3 2626,
) (3) 6622, . (& 6262
10 “What is outcome Qf following?
A=A g
B=A@ B
A=A®B y
{1y A = THUE B = TRUE, |
(2) A = FAlLE, B = FALAE
(3) A awi B oaie ::-{::{'%1::3{:11.-’:6:-;-& of rach other
7
(4) WValues oA and B oare sv rappecl {e*{&mm N
11 C_onside;" folbeing O coda fragment
unsigned char s, b, ilags
& = 8
Lo=a 7k
flag = namr & be
Value of flag o TRUE i 2nd only if
{t) LSB (lecst sienificant b} of num is one
(2) MSB (iuse significant bit) of num is one.
(3) num s & nsgouve number
(43  Both meen andt boare TRUE,
05/com-101_a| | 4 R ¢




12 Consider following C code fragment
int *pa, *pb;
(*pa) = 25:
pr = pa;
(tpar
pb++;
ﬁrint.f(""-/od. Wt Yhdia, (*pa},.{;*pb));

Output of this code is

(1) 2526
(2) 26,25
G) 2627

(4) 26, unknown

13 A is set of all English albhabets and D is set of digits.
A={a, D, ... Yy, 2, ALBL L Y, 2%
D=0, 1, ..., '8, '
An.identiﬁer in C can be described by following regular expression
() a,a e A o
@ a,aeAuD.
(3) db* a e A bebD

(4) (‘lb*, o < }—\, b e A W, I

th
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| : 14 Which of the folicwing date types is not supported by J"&gt‘gk
o (1) char . | -
{2y long
(3} double
(4) siring
15 What shall be oniput of following statement 7
unsigned char o
¢ =c¢ >> 8
. (-1) zero if ¢ s even snd ome if ¢ is odd - -
] _ , oL 2y _oné iF e is gwven and zero if ¢is odd -
] | - (3) zero if ¢ » 128 otherwise one |
5. (4) zero i < 128 ciherwise one ,
I 16 A C compiler reserves 1, 4, 8 bytes respectively for char, dnt, float data
; types. What shiall be cutcome of follewing C code fragnay,
|
! struct grade |
! 1nt lﬁ, s, b:
5 unpion {
I' char <10} int k;:
: ' - it ke '
_ - |
o ﬁbat ps : o ' ' i
; b oas | :
| : printf("%d\n”, sizeed{ 1)
oy 2
2) 3
' (3) 34
(4) - 40
d5/c0M-101_4) 6 (HAE 1Contd...
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17 Consider following statement
int a, b, ¢
b = ~ g
¢ = bty
{1) cis I's complement of a
(2) . cis always 0
{3} cis2's complement of a

(4} cis always |

18 A c'on'tiﬁué statement in a while looi}_ shali
| {3)- tran_sfer cémtrol to -.stgtemeﬁt just before while loop
{2} transfer control to first sfateﬁent of while 50'@;}.
{3) transfer control to last statement of while Toap

(4) transfer control to test condition of while Ioap

19 Which of the following values can not be an argument 1o switch statement

in C?
X
@y 2
3 23
@ 2

20 Which of the following is not a valid C constant?

(1) "234
2) XY
(3) OxlI2A
(4) 0237

05/com-101. 4] 7 NI Conc..
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21 - Which of the following soriing methods is not suited for an already Sf*“*m
sequence? : "

(1) mergesort
(2) selection sort

(3) bubble sort

(4) insertion sort

22 In a double Linked tist, nm and prev are pointers to next and pf'eviw;%' '
nodes of the current node. For first aode, prev is null and for last node -~ |
next is ‘null. Following four statemenis-ave needed to msert a new node” }
x after nodet. -

- S "(Statément_ A}’ t->pext = xg
(Statemént B} x-»prev = §;
(Statement C) x->next = t->nexn
(Statement D) t;>ﬂex-t->prev = x,,
| Correct order of these statemnewnts fir imsertion shall be
| () C, D A B
(2) | A B C D
3) D, C B, A

4 B, CAD

23 Minimum and maximum heisit of a binary scarch tree of n nodes s
(1) 1, logyn ‘

(2) logyn, logom . .

(3) logym, n

(4) n, 2

a  OScomnn 8 IR rCosea...




24  Which of the following statements describe Binary Search Tree correctly?
For every node, value _ '
(1) is more than value at its left child and less than value at its right child.
(2) s less than value at both its left and right child. |
(3) is more than value at any node in lefi -subtree and le;ss than value

-at any node in its right subtree.

(4) Both (1) and (3).

& W W S

25 Consider n elements 2y, ay......, 81> &y These elements are pushed into I
stack one by one. After every two push, one pop operation is carried
" out. Conténts of stack after all elements have been pushed shall be . -

(1) ay, 23, Ag,......2, . (7 is even) otherwise a;, as, &5, 2y 280
(n is odd) R '

(2)  ay; a4, 8.8, (n is even) otherwise ay, a4, Ag,--Ap 2801
(n is odd) '

(3)" ay, a3, @s5-e-8p g (n is even) otherwise a,, @y, Ag---- an_z,qn;i.

- ;7 is odd)

(4) ay, 2y, ag,.....a, (1 is even) otherwise a,, 23, as......8p 2.3
(77 is odd)

26  Inorder and preorder traversal of a tree are UVXQTWRN and QXUVTRWN.
. Postorder traversal for this tree is given by

(1) VUXTWNRQ
(2) VUXWNRTQ
(3) VUXWNTRQ
(4) VUXWRNTQ

27 Binary search is applicable in
(1) Array and AVL tree
(2) Array and Heap tree
(3) Queuve and AVL tree
(4) Queue and Heap tree

05/coM-101_A) 9 B (Conta..




28 .Lexicdgraphical ordering refers to occurence of words in dictionary, As o
"Above" comes before . "Able", "Above" < "Able" in lexicographicel -
ordering. ‘Time complexity to determine lexicographical ordering of two
English words of length m and n s

(1) Oflogy(m+m))
(2)  O@m+n)

(3) O(nﬁn(mn)}

(4 O{max(m,n))}

@ W1 W Ot e

29 Time to determine mezn of a sorted aray of n lemenys i given by

M Ofogmy s
- @ oy - |
AR O |

@) 0(,%)

30  Assuming all numbers are in 2's compiement representation, winch of
the following numbers is divisible by (1103031 2 '

(1) 11100111 | ;

| (2) 11100100 R | |
/ & @) 11010111 | .

) 1_10110'11 - . R

| o

F 31  The Dining Graduate Students problems s as fokaws. Six graduate

students are seated around a table with a ape derp dish pesa in the
middle. Graduate students are very refined end so dhey emt pizza with
forks and knives. There are three forks and three lves m & pile next
to the pizza. Each student uses the following algorithsn to eat - {1} Pick
- up a knife, (ii) Pick a fork, (iil) Cwtl owt 2 shoe of pizza and eat i,

i ' : (iv) Return the knife and fork to the pile. Which of the following is

: a correct statement for this problem. - '

(1) Deadlock can occur but may be avoided.
(2) Deadlock can occur and can not be avolded,
(3) Deadlock can not occur.

{4) None of the above

63/com-101_aj W0 | ;.;ggnmpmi( [Contd...




32 Pointer head points to first node of a linked list. Fach node has fnk 1o
next node. Time complexity to swap values of /7 and ¢ nodes shall he

(1) Op*¢?)

(2)  O(max(p.q))
(3) O(1) o e
@ O+

33 COnsidef av_s'chema R(A, B, C, D). and functicnal dependencies & B -
and C—D. Then the decomposition of R inte RI(AB) and R2{Cis is R
(1) - dependency b;esérving but- not Ioss.les's join o

| (2) lossless join but not dependency preserving

(3) dependency ﬁresewing and lossless join

(4) not dependency preserving and not lossless o

34 If max is a function that returns the larger of the twe integess. civen
~as arguments, then which of the following statemens finds the larues
of three given numbers?

(1). max{max (a,b), max{(a,c))
- (2) max(max (a.b), max(b,c))
(3) max(h, max (a,¢))

(4) all of the above

35  Every node of a tree has exactly 3 children. If root is at height 1. number
~ of nodes in a full tree (every level is full except last level that consists
of leaf nodes only) of height h is given by

(1) (3h-1)I2
@ GMne
3) (311‘]—1);"2
@) Gh1)

05/COM-101_A] 11 IR iContet...
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36 Which one of the following regular expressions is
. the regular expression (atb+c)* 2
5 @ (abrer)y
. (3) (a*b*+c*y*
5 (4)  ((ab)*+c¥)*
b
| 37 The gramn#a:r E&-av%ng production rules § 'ﬁ% \ A5 A ol f e, Bb !
3 . generates .~ '
(1) a a*b )
(2) a (ab)* &
(3} (ab)*
{(4) a a* b+
38  char ¢l = -128, (2, c3;
I ¢2 = cl+10;
E ¢3 = ci-i0;
' pffintf("%d %6“, 2, g3l
For above C code fnagment, answer would be |
(1) -118 +118 | t
"E (2) -118 -138
3) 10 ~118 1
(4) 10 -0
OSKCOM-m_A; 12
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39 it mamnvoid) | 5
z
int a, b, ¢
]; a=129 b=26 ¢ = +talb-— 5
| printf("%f \n", (float) o) 5
return 1; 5
_ Above C code, when executed, diéplays ' _ ) , J!
(1). 58 | |
@ 50 |
) {3) léAo
4 68
P 40 In C two int variables arc initialized as follpws
int A,._IB;
| . A = .OXQSFO; B = 0x54CF:
| printf("%:_{ W %x ", A &.B. Al BR
Execution of .above cade shall pring
(1) 10CC CDEF
(2) €010 DCFF
(3) 10CO DCFF
(4) CO0 CDFF
- 03/coM-101_4] RE AN rconta...




41

ginclude <sidio h>

void main(void) { .
int a;
a = [0-—
return:

}

Compilation of above C code yields error: Ivalie required as decremen: |
operand. This mzy be because

_ k:
(1_) P-unctﬁ-on rﬁaiﬁi- does not accept V'Oid as argiunent. ,_- . | - 1
(2) Decrement operator can not- be apolied to & constat.
(3) wvariable a is of type int and can not be assigngd 2 constant,
(4} Funciion maln does. not refurn any value.
42 Which of the following is an universal gate?
(1) AND
(2) NAND
{3 OR
(4) UVGATE
43 A ROM is used io stove the table for multiplication of twe Bz uwsigaed i
“integers. The size of ROM (in bytes) required is 4
(1) 256 x 4
(2) 62 K | ‘ "
G) 4K x 16 |
(4) 64 K x = .
05/com-101_4) o u WY wconta..
|
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G 44 The best data structure to check whether an arithmetic expression has
§ balanced parentheses is a/an

! (1) stack
(2) priority queue
(3). array

(4) linked list

i;; ' 45 1f AC represents ‘cb;nblement of set A" and U repres en{s universal fsef, - g » 11
;: choose the cor.rect _statement: ' | ' . - | ' [
3 (1) (A€ L B = (A n B
i @ (AC U B = (A 0 UF
@ ACUuBC=(AnBY) ,;
@ ACuBC-AnUD | -
| i 46 1t is given that a pointer requires 4 bytes and an integer needs 2 bytes.
! For the following C‘vz_lriable declaration
I int *a[10], b[10){10;

Which of the following statements shall print same valnes 7

I printf("%p %p", &a[10], &a[01+4%10);
M printf("%p %p", &b[0], &b[0]10]);

M printf("%p %p", b, &bIOD;

:,_ LIV printf("%p %p', a, b

() 1 1 and IV only

(2) 1, and III only
S (3) I and IV only

(4) 1V only

05/COM-101_A] | s [HIRE rComd...




- How many clock pulses are needed to change the contents of a $-bit
‘upcounter (counter vatug increased at every clock) from 10101100 1o
00100111 (rightmost bit is the LSB)?

(1) 134 (2) 133

Consider the following pseudocede applied on a binary tree.

ComputeX(node) {

R S Y D T R R AT

if (node = = NULL)
 return 6 |
Celse -
; 3 | value = 1 +- {Zﬁﬂﬂpﬂ:&-ﬁ?«‘iﬂﬁ&:ﬁaﬁ«?» 'iéfﬁﬂ_*é%d} , '
valug = mac (ke 1 + ComputeX(pis - > riahtChiE)
l return {vaise): |
I - endif
; } |
} ' The value returned by ComputaXireot) is
' (I} Number of leaf podes in the tree
| {Z) Number of nodes in the trog
i " (3) Number of intermsf nodss ip the trea
; {(4). Height of the tree
4% For a 5-input XOR goie, cutput for -mpuf ERE :I,-i_c'-s.'
(1) One ' -
(2) Zero
(3) High impedapce state
(4) Insufficient mformation
50 Where does swap space reside?
(1) On-chip cache (2) Hard Disk
(3) RAM . 4  Page Table
05/com-101_a] 16
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A 51 Consider the statement, “Either —3 TN Or K 1

statement is

(2) x<-3 or S<xc 10

(3) x<=3 or S<x-10

L)

(4) x<-3 or S<x< 10

| ‘Identify incorrect statement. -
- (1) A 2PDA is as powerful as Turing machine. _ _ _ .

2) A multicape Turing machine has more compuiztional nower than

J single tape Turing machine.
E (3) A deterministic finite state machine cau e used fov jexica anabysis,
! ;
f ' (4) PDA is aot as computationally powerful as Turing Machine,
; i : _..--5'3 Number of 4-maps for 3 hoolean variables are
T
: - " (2) 22 x 22 x 22 x 22 x 32
Ny (G) 22 x 23
fi
L 4 232
b
i
' 54 Consider following € code segment - What is the output ?
‘ o ' char *s{6] = {“"these", “f:‘uif‘ﬂ “are" “sweet”};
b Printf("%c %c %e %", s0][0] SO0, S22 <0393 )
(1) tfas
| _ (2) sweet

. | (3} tree

(4) these fruit are sweer

iH
ot
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B =
0
3

5

. 58

57

Correct order of phases of code compilation is

(1) syntax, lexical, semantics, intermediate code generation

(2) lexical, intermediate code generation, syntax, semantics,

(3) lexical, symtax, intermediate code generation, semantics

- (4) lexical, semantics, syntex, intermediate code generation

Correct sequence of operations in an Instruction cydle it

(1) Operand(s) Fatch, Decode, Opcode Fetch, Execute '

| (2) Opeode Fetch, Decode, Opet'and(é) Fetch, Execute -

(3) Decode, Opende Fetch, Operand(s) Fetch, Lxeoute

(4) Opcode Fetch, Decode, Execute, Operand(s) Fetch

in a 12 bit integer, least significant bit is set to zero and most Fististaitat i

(2)  {2048,2059,........4094)}
(3) {0, 1,2, 3,.....2048}

(4) {2048.2049, . ..4095}

05/coM-101_A|
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Consider a swapping system in which memory consists of the following ffé
hole sizes &
Hy = 32K, H|=14K, H, = 10K, H; = 28K, H, = 17K, Hy = 19K,

Hy = 20K, H, = 15K.

For successive requests of (i) 22 K, (i} 6KB and (iii) 9KB, best {it shail
allocate

(1) Hp. Hy, H,

(4)  H,;, H,, H;

59 Consider a program P t_haf[ consists of two source modules M, and M,
contained in two different files. If M, contains a reference to a function
defined in M,, the reference will be resolved at
(I} run time

{(2) compile time
(3) . link time
{4) load time

60 . The running time of an algorithm is given by
T)=T(n—1)+T(n-2), if n= 2
1, otherwise
the .order of this algorithm is
(1) n
) w?

(3) logén
.(4) n log,n
05/com-101_a] 19
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5 61 Match the following sets

I Memory management a. 'I"hougﬁ-pzii
H  Scheduling b, Semaphore
Oi  Thrashing ' ¢ ' Seglﬁentarion
IV Critical Section d.  Preempfive

(1) l-a, T-c, Tli-b, 1V-d

(2) I-d, H-b, I, {V-a

() Ia. b, Mg, Td . - "

L @ i O, s Ieb : _.
S | !
!:.

¥ 62 Maximum number of edges in 2 n-node undirected gragh without

' self-toops s '

5; (1) n?'.

@) n(n ~1)2

‘ (33 a{n -1

{4y  n{pl)2

i 63 Which normal formn 5 congidered adeguate for database design?

(2) 2NF

(3} INF

(4) 4ANF

85/com-101_4) 26 | B (Contd...
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54

63

66

05/cOM-101_A] 21

Ky
e
HE

For following two sets

I Compiler a LRU

I Function b Extended machine
Il Operating System c [.anguage processor
-1V Paging d  Call by value

Tdentify the correct matching.
(1) I-c, II-d, TII-b, TVea
2y I-b, II-d, Hl-¢, IV-a

(3) * L, U-d, [H-a, I¥-b

(4)y 1-d, ll-c, {il-b, TV-a

If 73 (in base-x number system) i§ equal to 54 '(in hase y-number system},
the possible values of x and y are

(1) 8, i1
@) 8 16
@) 9 13
@ 10, 12

Consider a boolean function /' = {a + bc)(pg + r). Complement f of
function f is | '

(1) (@ + b'e) (plg' + 1)

(2) a (b’ + )+ (Pt g

(G) (a'+ bey + (plgt + 1

4) (a_"b’c’) + (g

HEIN tconta...




5 67  The minimum number o ‘bits required to represent numbers i the range \ T
| 28 to +31 is )
5 DEE - ® 6
P 5 Gy 7 “ 8
‘ pf 68 Consider the following cede segment.
j 5 X =1
P | : 5t 1= -1; o
Y wbile ¢ < 1w ‘
. t=1+ 15
j GO :
What is. th? value _r_:-.v:;éf i at the ead of the code segment?
1 4 | @ s
| 3) 6 @ T
4 69  Consider the following C function
P  void swapfint a, int B}
{ Int temp;
emp=s;
a = bs .
b=t3f13;3,
| In order to eﬁcﬁaxé&a. the velues of the two wariables x and y.
[ (1) call swap(x, ¥)
] (2) cali swap{ &x, &)
(3) swap(x, y} cannot be used as it does not return any value
4) swap(k, y} canmat be used as tfﬁe parameters are passed by vatue.
OSICOI\{-IOI_%‘I“{_ 22 [HI A (Contd...
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70" What will be the output of following code segment in C ?
#define fourth(x) x*x*x*x |

void main( ) {

int y=];

i Printf(" %d", fourth(y+6));

| 1 25 @) 2401

@) 1296 &) Nome of the above

71 _ A- - static variable .

(1) can not be inttialized

(2) s initialized once at the commencement of execution and can not
be changed at run time :

(3) retains its value thro{sghout the file of the program

(4) is same 45 an automatic variable but is placéd at the end of a
! program

72 Adcl_ition of two n-bit numbers can generate a number having atmost
(1) #w+l bits - . (2) * 142 bits - |

() 2n bits | @ 2 bits

73 The .correct matching for the following pairs is

a  Activation record 1 Linking loader
! b  Location counter 2 Garbage collection
I C | Reference counts 3 Subroutine call

d ~ Address reloéation .4 Assembler

(1) a-3,b-4,c-1,d-2
(2) a-4,b-3c-1d-2
(3) a-4,b-3,c-2 d-1
(4) a=3,b-4c-2d-1

0S/com-101_a) 23 ”]M[lﬂﬂﬂ"ﬁﬂ [Coﬁtd...
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Level order traversal of a rooted tree can be done by stariing from Thi T

root and performing : P
(1) preorder traversal

(2) in-order traversal

'(3) depth first search

(4) breadth first search

Match OS abstractions in =% cofumn to the hardwa & componerss in o

© right column
% B a. 'Thread .' | . 1. Intérrupé )
e‘ o b. - Virtual _Addresé Speoe | 2. Memory
: c. File System 3 CPU
d.  Signal | 4 Disk )
(1) a-2,b-4c¢c-34d-1

2y a-1

(3y a -3,

o [=n o o
i
b
[ 9]
i
s

4). a - 4,

76 Identify correct matching of the following sets.

a  Transaction 1 ndex

b Natural, join-. - z relational a{gebi‘a_,
¢ B-tree -3 two phase focking
d  Concurrency control 4  ACID

(1) a1, b2, -3, d-4
(2) a-2, b-1, ¢4, d-3
(3) a-3; b~-2, c-1, d-

4) a4, b2, 1, d-3
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78 A 2-bit full adder cifcuit reqmres Z-imput fogic g ;:,ac es. Correct combination
of these gates is -
{1}  Two XOR gates, Two AND gates, Gne OR gatc
12} Two NOR gates, Two NAND gates |
{35 One XOR gate, One AND gate, One OR gate
(47 None of the above
7Y Which of the folloﬁ’ing is NOT a characieristic of relational DBMS?
{1} tables
{2} ree-like structures
{3) complex logical relationships
{4} . records |
55 Palindromes can not be recognized by finite state machine because
{.i} It can not remember large amount of information
(2) can not fix mid-point |
(3) Even for a known mid-poinlt, it can not check if second half matches
first half. | '
(.4',\ All of these
05/con1-101_4) s HEIHRHIG TConta...
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Semantic errors can be detected at
(i compile time only
{2)  run-time only

(3% both compile time and run-time only

(45 none of these




83

84

Rt

Interval between the time of submission and completion of the job is
calied

(1) Waiting Time
(2) Turnaround Time
{3} Response Time

(4) Throughput

What is the place in a computer where the operating system, application
programs, and data in current ase are kept so thet they cen be quickly
meached by the- computer's A. ' ' :

{1) Access Control List .

(2) Microprocessor

(3) Random "Access Memory

(4) System Tray

The term 'page traffic' describes

(1) Number of pages in memory at & given skt

(2) Number of papers required to be broueht &t o given page reguest, -

(3) The movement of pages in wnf owt of memney.

(4) Number of pages of éxm.ﬁsag DTOETEmS torded FYELRITY.

To avoid the race condition, the rweaber of provessss shat may Fe
simultaneously inside their critical section is

(1) any number

2 4
(3 2
@ 1

@SJ‘COM-IOI_A] - z# Wﬁﬁi@fﬁ? Contd...

e e L e ARV it T R LI R S R AT T B A e s e




TEwri L

R ]

A1 Tt bty B, s T T

R e . A

85 The scheduling in which CPU is allocated to the process with least
CPU-burst time is called

(1) Priority Scheduling
(2) Shortest job first Scheduling
(3) Round Robin Scheduling

)] Mul_tilevel Queue Scheduling

86 * “Which of the follomng programming Ianguages is _re!ated fo Al {Artificial
-Intelligence) de.velopment? o

(1) C language (2) C++ laﬁguage‘: el 1
(3) Java language (4) Prolog language.:, -
o

‘87 A program is 80% parallelizeable. Speedup by.psipg 2 'proceséors in
parallel as compared to one processor only shall be

(1) 1.25 2y 1.5
3) 167 4 2
Th i
88 The "blocking factor" of a file is. a0 wdnn
(1) The number of blocks accessible to a file ** EROLEE

(2) The number of blocks allocated. to a file e o
_(3j The nurﬁber of logical recorﬂs ‘in one physical reeord
{(4) None of the above
89 The Banker's algorithm is used e e
(I) To detect deadlock in operating system
(2) To prevent deadlock in operating system ¢
(3) To reactify. a deadlocked state.

(4) None of the above
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90 Gbject oriented programmers prunarily focus on

()
@
3)
@

procedure to be performed
the step by step statements needed to solve a problem
the physicai orientation of objects within a PrOgI A

e

objects and the tasks that must be performed with those ohiscrs

91 Consider the languages

L1 = {wwR | w 2 {0, 11*} where w® is the revse of B

L2 = {w& wR | w ¢ (0, 1}*}, where w® &t e mwews of ay, -

# is a special sypibgl

13 = {ww | w ¢ {G,'.I'}’:‘}

Which one of the fullowing is TRUE?

M
@
G)
O

L1 is a determinisne CFL
L2 1s a deterministic OFL
L3 is & CFL, but not a deierministic TFL

L3 is a deterministic OF:

I

92 Cousider the following grammar.

- 85(8)

S~-—)X

Which of th_e fqli@wing, sté-ter-ne-n{s is {ere} true?

I The grammar is ambigﬁ.oﬁs.

It.  The grammar is suitable for top-down parsing,

T,
m
@
(3)
@)

05/com-101_aj | 28

The grammar is suitable for bottom-up parsing,
[ only

I only

HI only

I and 171 only
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¢ "Employee's salar_y should not be greater than Rs. 7000". This is an
example of |
(1) Infeasible constrain(
(2} Integrity conmstrain:
(3)  Overdefined constraing
(4) Fiéld constraint

05/com-101_a; 1
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Hamming distance betweay two 10007111

(ay 3
2) 4
3) 6
(4) 7

Start and stop bits are used in serial communication for -

(1) error detection

(2)  error correction
{3)  synchronization

(4} speeding up comimunication

Type checking is normally done during
(1) -Lexicaf analysis

.(2) Syntax analysis

(3) Syntax-directed translation

(4} Code optimization
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97 Which of the following logic expression is incofrict:
(I} (a+b)(a+ b)=a

(2) ab+ ac+be=b+at

(3) {a+b) =ab

Prefix and postix expressions for following irdix. SEPISSHIONE are
‘AFB+CHD*E+F) - | - | _ -

(1) ++AB*CH*DEF, AB+CDE*F+*+
@) +AB+*CHDEF, AB+C+DE*F+*
(3) *++ABC+*DEF, AB+CDE*F+*+

(4) ++AB*CH+*DEF, AB+CD+E*F*+

99 Consider two cache organmizations: the first one 13 32 K8 2-way st

associative with 32- byte block size. The second one is of the same siz

but direct mapped. The size of an address is 32 bit in both cases
A 2-0-1 multiplexer has latency of 0.6 ns while a k-bit comparetos has
a latency of k/10 ns. The hit latency of the set associative organizetiven

i~

is h,, while that of the ditect mapped one is %, The value of by asd
h, will be. |

(1) 2.4 nsand 2.3 ns
(2) 2.1 ns and 1.3 ns
(3) 1.1 ns and 18 s

() 1.7 ns and 1.6 ns

100 The addressing mode used in an instruction of the form ADD AX, ki 'ia.:
(1) direct (2) immediate

(3) . indirect (4) index
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